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Which word' class is often defined by position rather than by form ?
(1} Mouns

(2]  Adjectives

{3y Adwverba

#y Werbs

The nominative forms of the personal pranouns of the first and third
pErSons are |

{1y 1, we, he, she, they

{2y T, vou, he, she, we

{31 me, him, her, us, their

{4) you, your, Yours, wour's

‘A baby should have onc bath m’éryday and il strong he may have two'
In the above sentence the personal pronoun ‘he’ refers to
{13 @& male child

(2} a female child

(33 a litle wirl

{4) Sex is unknown

Beflexive Pronouns are also knowi as
{1y Compound Personal Pronouns

{2) Demenstrative Pronouns

{3y Fossessive Pronouns

(4) Relative: Pronouns

Which of the [llowing is & correct grammatical construction 7
{13 Dwaughts is entirely a game of mathematical calculation,
i{Z) Drauahts arg entirely a game of mathematical calculation.
(3} Draughts is entirely the game of mathematic caloulation
(4) Draughts have entirely the game of tnathematic caloulation.

Take the book __ the table :
(1) off

{2} In

(3} into -

(40 oul of



F-19 LH in e blanis by choosing an appropricie aliernative.

T You _not drive fast. There is a specd limit here.
(1) must
(2) need
3y will
{4} shall

8 Meashes be quite dangerous,
{11 can
(2] may
{3) st
t4)  shall

g T have lent you the money. Why didn’s you ask me ?
{17 shall
{Z)  could
(3) may
{4) can

1 You have waited till the lights were green.
(1}  ought to
(2} need to
{3) dare
{d) can

to go for a walk in the moming, now they don’i,

1 They
(17 used
(23 would
{3y could
(4} might
12 He is zrealy allheted the death of his child.
(1) by
2y a
{3) ~with
4w

13 He aspires _ that well-pad situation
1y to
(2} after
{3y Lo
(4 ouw
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Tam amecdons my son’s safely,
(1Y  about :
(21 1o

{3y for

(4) of

These words are becoming a king
(t to

2y in

{3y of

(4} from

A judge should deal v:quaﬂ jus:!ic:: to all,
{1t oul

{Z) in

{3)  with

4y into

She had no other claim to the post ber goad looks.
(1 bul

(2) than

@) s

(4} then

He had scarcely recovered from fever he contracted a bad cold.
{13 when

(2] than

{3) then

(4) as

I shall do it pleasure.
{1}y from

{2)  with

{33 to

(#) among
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Mark the grammatically correct sentence :
{13 1 would sooner die than to confess it
£2) T would sooner die than confess it
{3) [ would rather dic than to confess it
(4) T bad better die than to confess it.

I readily plosed with his offer.
The underlined waords mean
(1) found '
(2} persuaded .

(3} accepled

(4) pot rid of

The Directars of the company put their heads .EDE;E."HIE,F to solve the problem.
The underlined idibm mplies.

1) consulied ane another

(21 fwled o understand

(37 lstened to each other

{4)  ran away

He in fis house for teenty yoars,
{11 loving

(2} has lbved

(3} has had live

(4} had has been living

If1 wealthy, 1 should have many friends.

(137  would be

(2} werg

{3y should be

{4)  had been

i1  attended the training course, T would have learnt something,
{11 had

{2} would have

(3t hawve

(4} should have




26 This torch lhree batteries,
(1} is haolding
(2} holls
(3t hold

(41 helded

27 Your English has improved
{1y m 2010
{2} simoce she started teaching vou
(3} since she would be teaching vou
{4) since she could be teaching vou

28 1 saw rmy par.lz:nts L
(1) dor four days
(2} four days ago
(3} since four days
{4)  sincefor four days

29 ] went to the court because T ___ a show cause notice.
(1} received
{2} had revcirved
{3} bhave received
(4] has received

3¢ Tn direct speech

(1} quotation marks are placed at the end of the sentence aftor the full
stop, comma, question mark or mark of exclamation

(2} quoiation marls are placed at the end of the sentence only after the
fult step.

(3} guetation marks are placed at the end of the sentence only after the
fuestion mark.

(4)  quotation marks are placed at the end of the sentenee only after the
thark of exclamation,

3 No system of Government is perfect,
{Transform into atfirmative) ’
(1Y Every government is imperfect
(2} Ewvery system of government 15 imperfect
(3}  Abl systems of government have drawbacks
(4} Government has been made imperfeet by Systems.

E-111/01_A| ‘ & 1 [ Contd......
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She will foel better in the moring.

{Transform inte interrogsative)

{1}, Would she el hetter i the morng ?

{2} 'Will she feel better in the marning ?

(3} Will she be feeling better m the morming ¥
{4) Would sho have felt better i the morning 7

Those wommen speak CGerman.

(Add 2 question tag)

i1} ‘Those women speak German, don't them 7
{2} Thosc women speak German, do they 7
{3) Those women speak German, don’t they 7
(4] Those women speak German, did they ?

This watch does not keep correct time
(Transform into negative interrogative)

{1) Do this walch keep corract time 7

{2} Docsn’l this watch kept correct time ?
(3} Tioesn’t this waich keep carrect time ?

{4y Does the tine given by this watch is incorreet ?

Wasz he not a viflain to do such a deed ¥

[ Trapsform into assertive).

(Fp  He was a villain to do such a deed

{2y e is & villain to do sugh a deed.

{3) Such a bad desd he do.

(4} He did a bad deed readily, he is a villain.

In which of the following, ‘Do’ [unctions s a substitute for the verb in
questions which ask about action 7

(13 What do you do in the cvenings ?
{2} Do you lilke that movie 7
(3 1 da go to the class once in a while.

{4) 1 do write 1o him everyday.

E-1L /0L AL 7 _ [Contd.....




37 Which of the following is not true ¥
{1} The passive voice is used when the active subject is not known.

{2} The passive vaice 13 used when the spenker is interosted in
mentioning the active subject.

(3} When for rensons of tacl, good manners of secrecy it i3 not proper
L mention the agent.

(4} When the writer/speaker wants to give prominence to 4 word or
phrase in the sentence,

38 “He bought her a saree’.
The above consiruction cannot have Two passive voice sentences because

(1} two passives are possible onby when the indirect ohject can’ be
preceded by the preposition ‘to”,

(2} twa passives arc possible only when the indirect object can be
preveded by |he preposttion “on’. _

(3} two passives are possible only when the indircet object can be
preceded by the preposition *lor

{(4) two passives are possible ouly when me'lndlrwt object can be
preceded by the preposition “upon®.

39 °It has been brouzhi o our notice”, _
The ubuve passive construction is moat likely to occur in -
{1y Odfficial cﬂ-rrcﬁ]:mndeme:
{2)  Conversation
(31 Welcome address

(4} . Welcome speech

4t ‘Do the doctors bere make such mizipkes™
The passive voice of the above sentence is
(1} Are such mistakes made by the doctors here 7
(2} 1s such mustakes made by the docters here 7
(3}  Were such mistakes made by the doctors here 7
(4} Such mistakes are made by the dactors here.

E-111/01_A ] 8 [ Contd......
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She hathed in the river
The underdined word is

{1} Transiive verd

(2} Intramsitive verb
{3y - Gerund
(4} Tnfinitive

Shidants __do not play games, do not progress in hile

(1} who
(2) whom
{3y that
(4} which

T can’t read small print T wamnt to get my cyes tested.

1) bt

{2) that

{3) - therefore
{4) thoogh

The little boy grew wp he becanie a greal man the whole

world heard about him.
(13 and - throwgn

{Z) and - and

(3) and - but

{4y although - but

The news ___ he is retiring is false.
(1y that

{21 which

(3} where

41 when

Take this __ give that
(1) only

{2y and

{3 neither

(4} as

E-111701_A ] 9
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The question ward for all posscssive forms, such as possessive nouns,
possessive pronouns and posscssive adjsotives, is

(1
(2}
(3)
{4

what

whom
whose
where

Which question word denales frequency ?

(1%
(2)
(3)
{4)

How often
How long
What kind

What time

An interjection is a word

{1
(2} .
{3
(4}

Which expresses strong feelings,

Which is always used after 5 noun
Which is alwiys used before an adjective,
Which 15 never used in conversation,

Which of the following sentence coniains & demaonstrative pronoun 7

{1
(2)

- (3}

t4)

This is my pen.

This pen is mine,
Thiz boak 13 hers.
That book 15 red.

The four demonstrativés include

(1)
(2]
(33
(4}

this, fhese, that, those
this, there, their, these
this, that, those, their
their, lhere, than, then

Do you eat much fruit 7" The underlined word in the above sentence js -

(1)
(23
{3)
{4)

a countable noun
A COMIMOn nouns.
an wneountable noun
a colléehive noun

E-111 /01 _Aj 10 " [Contd......
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Which of the following is not rue ? g
(1} Abstract nouns are mainly uncountable nouns.

- (Z) Concrele nouns are mainly countable nouns.

(3) Abstract nouns are mainly countable nouns.
(4} A common noun refers w a class.

‘iF they were here, they would Lell you”

“Were they here, they would tell you.”

The above two SENfences CrHvey : "

{1y the same mganing

21 dillerent meaning

{3} the same meaning The gecond one is more likely in writng.
(4) the same meaning The second one is more likehy in speech.

55-37 Rewrite the followmg sentences beginping thenr with the vwardy
wiven in brockets. .

“Other tivers in the world are not so long as the Mississip’
{The Mississipr....)

(1} No other river is as longer as the Mississipi.
(Z) The Mississipi is the longest river i the world,
(3) The Mississipl is the longest river of the world.

“{4) ‘The Mississipi is absolutcly the longest river.

:(Hher places in India are not so beautiful a5 Kashmir”

{1) Kashmir is the most beautiful place in India
() Kashmir is more beautiful place in Tndia.
(3} Mo place is so beautiful as Kashmir,

{4) Kashmir is not a very beautiful place.

‘Other bazars are not so crowded as the Bapu Bazar’.
i The Bapu Barar is...)

{13 The Bapu Bazar is the maost crowded bazar

{2) The Bapu Bazar is certanly a crowded place.
{3} . The Bapu Bazar was the most crowded bazar,
(47 The Bazar is not so crowded a place.

EML/OLA] 11 ' [ Contelunns



Change the following semiences as direeted in the brackets,

38 “Abdwl is older than amy other man in the village™.
(Convert into superlative degree)
(1} Abdut is the cldest man in the village
{2) Abdul is the most old man in the village.
(3} Abdul is the oldest man alive in the village.
{4)  Abdul is clder than all the peaple in the village.

59 “Mu Evergst is higher than any other peak in the world.®
{(Coovert inte superbative degrea)
(1} Mt Ewverest is the most high peak in the wordd,
(2} Mt Everest is the highest peak in the world.
{(3) Mt Everest is the only highest peak in the world,
{43 DMt FEverest is not the highest peak in the worid,

6064 What do the foltowing idiomatic expressions mean ?

60 A wild soose chase
(1} A foolish and fruitless search

{2) A foolish but fruitful search
£3) A loolish but pleasant search
(4} A comprehensive search

61 A Wolf in Sheen's Clothing
(1) A hypocrite
(2} An lhonest man
{3) A sincere man
(41 An honest and sincere man’

62 A dead letier
1] No longer liked
£2)  No longer in foree
(3} MNo longer in control
(4} Mo longer dead

63 Ina jiffy
(1} wvery soon
(2} later
{3} a linle laer
(4 afler & long tme

64 There 1z no smoke without [ire

(1) There is no effect without a hackground.
(2)  There is no effect without a canse,

(3)  There is no cause withewl, sn effiec,

(4} There must be a cause for a happening,

E-111 /01_A ] 12 I Contd......



635-69 Change the following sentences af directed in the Brackets.

65 T will always remember vour kind eooperation.”
(Charge into negative without changing its meaning) |
{1) 1 will not always remember your lind cooperation.
(2} 1 will never remember your kind cooperation,
{3} 1 will never forget your kind cooperation.
{4} Never will I remember your kind cooperation.

66 “He missed the train because he was late’
(Change inte a simple sentence)
(1) Because he was late,.he missed the train.
€21  Being late, he missed the train.
{31 Since he was late, he missed the lrain.
(4] Since late, he missed the train.

67 ‘lLrrigate the fields and the crops will grow fast”
{Change into complex sentance)
{1] If you irrigate the fields, the crops will grow fasl.
{2y If you don't imigate the fislds, the crops wall grow fast.
(3} If you irrigate the fields, the ui‘ops will not grow fast,
{4) Don't imgate the fickls, otherwise the crops will grow,

68 T drink wine spoils the appetite.
If we change the underlined infinitive into a gerund, the angwer will be
{1} Appetite is spoilt by wine
{2y Drinking wine spoils the appetite.
{31 Do net drink wine as it spoils appetite.
{4} To save appefitc vne should nat drink wine.

69 ‘Everyore wants to be a millionaire?’
{Change into_interrogative)
(1} Mo onc wants fo be a millionaire.
(2} Who do not want to be a millionaire ¥
{3} Who does not want to be a millionaire ?
{#) Who will want to be a millionaire ?

E111/01 A] 13 | Contd......
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Fi-74 Read the senfences given below and identifi the meaning of ihe
widerfined phrosal verbs by choosing an appropriate alernative,

I you ¢at any more crean, you will bring il up’.
(1} To be =ick

(2} To raisc a point

{3) To rear

(4] To comvert

*Call o & doctor immediately”,
{17 =end

(2)  send for

(37 send back

14y produps

‘She takes afier her mother”
(1) resembles

2y follows

{3) obeys

(4) ecommunds

‘In disgust, he threw wp his appointment'.
{11 threw away

(2} resigned

(3)  embraced

(4}  wielded

"If your servant is lazy, why don't you temn him off”.
(1) o disouss
27w produce
(3} to present

{4} to capsize

E-111 f01_A] 14 { Contdl......
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In the Grammar - Translation Method :
(1) Reading and writing receive the major focus,
(2) Speaking and listening receive the major focus.

{3) Speaking receives the major focus.

(4} Listening receives the major focus.

In The Grammar-Translation Merhu-d, Crammar ;
(1) is taught deductively. .

{2} is taught inductively.

(33 is taught both deductively and inductively,
(4) 15 taught neither inductively nor deductively,

T”jw major weakness of the Grammar - Translation method is :

(1} Tt does nat provide equal consideration to all the four language
skills.

{(2) K provides ample scope to leam aural-oral shlls.
(3} The wrilten aspect of the language is almost completely nepglected.
{4} Theteacher need not necessarily be the master of the target language.

Which cne of the following is not a common featre of the Direct Method?
(1} Emphasis on the oral Janguage

(2} Intensive speech practice

(3} Exclusive use of the new language

{4) Intensive reading practice

~The Grammar translation method pays little attention to

(1} Crammar
(2} Translation
{3y Mother tongue

(4] Promunciation

E-111/01_A] 18 ' [ Contde.



95 The Grammar-Translation method puts a tremendous strain on
{1} Teacher's memory
(2} Student’s memory
(3}  Parent’s memaory
T {4) Cresfive imagination

9 In the Grammar — Translation method the language most used in the
class is o ’

{17 TFEnglish

{2} Foreign language
i3y  Mother tonpue
(4y Tribal languape

97 Direct method puls emphasis on
(1} Wother tongue
{2} Rubes of Grammar
(3 Translation in Hindi
{(4)  Direct use of English in meamingful situations.

0% Indian learners of English generally suffer from the Rallowng woskness ;
(13} Tnability to understand pronunciation :
(2} Think they know everything
(3) Do net-chatting -
{4y  Write e-mails

98 Communicative competence meludes ;
- (I} only grantmatical knowledee :
£2) both grammatical knowledge and the ability to use thiz knowledge
Lo perdtrm different fimctions
(3 only abstract gramematical koowledge
(4} only lingnistic competence

109 Teaching Comprehension is difficult because the reader i5 not familiar
{17 with the use of idicmatic phrases in the passage
(Z)  with the author
(3)  with the age in which the prece is writlen
{4) with the passage
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